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\begin{frame}
\maketitle 7 same as : \titlepage
\end{frame}
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\begin{frame}
\begin{itemize}
\item 1*F item
\begin{itemize}
\item 2-1 item
\item 2-2 item
\end{itemize}
\end{itemize}
\end{frame}

\begin{frame}
\begin{itemize}
\item[] %%/ unobservable
\begin{itemize}
\item 2-3 item
\end{itemize}
\end{itemize}
\end{frame}
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\chapter{Beamer class}
\section{Basic usuage}

\begin{frame}

c o

% (chapter), Z (section) £ 2 frame® J

\end{frame}

Sl

Z 2 mailto:namun.cho@gmail.com Zg|ME|0|ME 2|8t Beamer class



mailto:namun.cho@gmail.com

block&tA

X2 M1 U= ZAIKII} HEE block&HZ0|Ct.

block=tA

\begin{block}{°l 4 °| =
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\begin{columns}[& 1]
\begin{comumn}{*f °| =}
\end{column}
\begin{column}{*f | = }
\end{column}
\end{columns}
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\begin{columns}[t]
\begin{column}{0.5\textwidth}
Two\\lines.
\end{column}

\begin{column}{0.5\textwidth}
One line (but aligned).
\end{column}
\end{columns}
Example:
\begin{columns} [t]
\begin{column}{0.3\textwidth}
Two\\lines.
\end{column}
\begin{column} [T1{0.7\textwidth}
\includegraphics[bb= 0 0 567 825, height=3cm]{abcd.ps}
\end{column}
\end{columns}
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Two One line (but

lines. aligned).
Example:

Two
lines.

Z 2 mailto:namun.cho@gmail.com Zg|ME|0|ME 2|8t Beamer class


mailto:namun.cho@gmail.com

=
=

frame

JU 02 rA I oY o

=13
8l
b=l
H
M
=
=

2 &=MCHE 20| LIEHA

-1

ofgfel =2 ASMAIZ|H < NUM— >2| NUM &ML 2
LbEtpA it
- ~
\begin{frame}
\frametitle{There Is No Largest Prime Number}
\framesubtitle{The proof uses \textit{reductio ad absurdum}.}
\begin{block}{Theorem}
There is no largest prime number.
\end{block}
\begin{block}{Proof}
\begin{enumerate}
\item<1-> Suppose $p$ were the largest prime number.
\item<2-> Let $q$ be the product of the first $p$ numbers.
\item<3-> Then $q + 1$ is not divisible by any of them.
\item<1-> Thus $q + 1$ is also prime and greater than $p$. QED
\end{enumerate}
\end{block}
\uncover<4->{The proof used \textit{reductio ad absurdum}.}
\end{frame}
>
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There Is No Largest Prime Number

The proof uses reductio ad absurdum.

There is no largest prime number.

© Suppose p were the largest prime number.

@ Thus g+ 1 is also prime and greater than p. QED
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There Is No Largest Prime Number

The proof uses reductio ad absurdum.

There is no largest prime number.

© Suppose p were the largest prime number.

@ Let g be the product of the first p numbers.
© Then g+ 1 is not divisible by any of them.
@ Thus g+ 1 is also prime and greater than p. QED

The proof used reductio ad absurdum.
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http://faq.ktug.or.kr/wiki/uploads/Beamer/BeamerTheme.pdf
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\documentclass [handout] {beamer}
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